HFEFR 10 HEHIIRRI - 5t Gefb P BRI Ok R HRE R CERR TR B IERS L) (1. B fia B L i E OO T LIVl F~21. FRLER iR

XA E ERIPEH B (ke/ 5 7 A4 U B Tmg—TEQ/4E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
W HOGHAO || - | pEgAl | D | R | s A BB | e | B | g | o | AVVIE | F | ESA | FAmE | R
DEROT| R RARA B B g | (s | wis | movv | o | PO SR g | A S | BB A g | oo | ki | i
A OKIEMALEY 50 2 7 60
TIINLVTIR 2 2
TN TV 322 322
77UV B O DK EETEN 24 4 28
TIVNVEE2 — (PAF VT I)) =T )L 322 322
% —tbRefr=F /L 0 0
TIVIVEE V<V —T F )L 19 2 20
T IYNEEAT L 322 322
T77)a=tv 276 276
Trab Ay 119 891 5,337 35 1,137 47] 81 7,647
Y wR VAN 1 1
TERTATER 610] 4,898] 30,214 195] 4,842 290] 108 41,157
Th=Rv 237 30 65 332
2, 2" —TYEAALY T Fu=J)L
FNh=T =T
7= 0 0
2—T73)xH )= 1,503 60,443 13,283 75,229
VAV %
T47 =) 612 48 659
NFG—TI)Tx)—)L
AR =TT =)=V
AT 238 238
AHIbmy
TIYVT )La—)v
1=TINAFy —2, 3—TRFT T 12 1 13
BT XN B 2R ED
(T AN HEO B0 14£TD 4,887 4,753 91 247,139 25,295 282,165
HOKROZEDREMIZIRD, )
T F R ROZDEY 38 59 96
A 4 4
3—AVYTF AF N —3, 5, 5—RIAF
N IANF =AY T F—h
{7 7,769 7,769
EA7x/)—VA 11 2 13
400 400
5,113 5,113
WA i 7 7
THIRA 4,131 4,131
EPN 1,125 1,125
NXUT ARSI 7,803 7,803
50 [EVF—b 1,120 1,120
51 |2—xF)~FHh g
52 |75=hn7 630 680
53 [T~ B 122,955 38,951 200 105,523 1,610 65,977 2,227 1,830 3,221 27 342,522
54 |HRAFT7TE—R 1,800 1,800
56 |T=FLoAFUR 378 245 623
57 |=FLoZYa—LE/2FLT—F/b 1,664 16 362 9 2,051
58 |=F LT Va— L AF )L T—TF )b 13 0 14
59 |[TFL o7
19 51 145 215
400 400
15,077 15,077
DA AN 5,784 5,784
TRz T uyIA 1,294 93 1,386
2, 3—TRFTa =7z )L —TF
v
TYAYF U Blak BEME K =~ Ay 131 131
FBIbZREBEDRE
AL 8k 1 1




HFEFR 10 HEHIIRRI - 5t Gefb P BRI Ok R HRE R CERR TR B IERS L) (1. B fia B L i E OO T LIVl F~21. FRLER iR

AT E AR PR B (kg/ 45 X AA XV U HHIImg-TEQ/4F)
1 2 3 1 5 6 7 8 9 10 11 12 13 14 5] 16 | 17 18 19 20 21
o e L I I B | e | e | R | D | ap | e | | g | B0 | g | g | Y008 | 200 | 6EA | FAmm | A
K Pl R ) A | febba | wsAl | oo | o VE R gy | W) S | WS OR | e | oo | e |
73 |1=As%/—
75 | HRIV LR OEDEY 0 0
6 | AT7vay—h7asr8n
79 |2, 6% L/
80 [Foiy 185,087 44,958]  467]  901| 162,104 8,358 261,389|  6,401| 8,515  7,630] 108 35| 685,952
RE
82 |8 O DAKIBIELA Y 9 11 19
83 |sA 2,360 14 1,159 2 3,836
84 [ ZVAxF—
85 |ZWHEILTILVTER 29 60 89
86 [JLYy—L 1 42
LY VAR QO VA=IN [ ex/) 5 0 1 5
88 |Aflizasbtt 6 189 195
89 |rmur=Ur
90 75U 1,190 1,190
91 L7 1,507 1,507
92 |ML7= ETR 978 978
93 AT 7n—1 1,659 1,659
94 |Mifke =/
9% [ IATOT A 2,880 2,880
96 |V7=/ 3 151 151
98 |k
99 | ruaffETF L
100 [7LF57m— 1 3,451 3,451
101 [7570—v 3,143 3,143
103 [IICFC—142b 5,221 5,224
104 [HCFC—22 138,938 138,938
108 (A= 7my~7 6,478 6,478
13 [o=vv 734 734
L4 A5 )77 18 18
115 |7 = FoHIF 1,062 1,062
116 [~ F 7/ IR 60 60
17 |[57a)/—n 389 32 121
18 [Sya7 k=1 106 106
109 7= 725 7= 110 110
121 |/"F—rmpTdx/)—)L
123 [T I
124 [s3iim 2,108 2,108
125 |[any By 183 3479 3 3,665
126 |CFC—115 215 215
127 [Zoodb s 628 996 135 1,759
132 |2/ SRR OZ DAl 39 123 162
133 ;‘fr’w:#”’?/l‘ﬁblﬂ:}”wg 1,863 0 1,863
4 324 367
8 8
30 30
139 [FFEAR 20 10 30
140 |7=2 70 N> 68 18 86
1l Xy =1 330 330
11 |7 GO 7> oA P - 208
145 [2— (CaFATI) T )=
146 [EUSHAAF L 196 196
W7 |[FA I T 2,160 2,160
U8 [ h7 = Aha— 1,748 1,748
150 [1, 4— V%o 37 37
151 1, 3—Ud%voy
152 [ FoT 5,09 5,094
153 [T RFAR 393 393




HFEFR 10 HEHIIRRI - 5t Gefb P BRI Ok R HRE R CERR TR B IERS L) (1. B fia B L i E OO T LIVl F~21. FRLER iR

E L AR PR B (kg/ 45 X AA XV U HHIImg-TEQ/4F)
1 2 3 1 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
e W4 HEEEO | | - Wl | AL | B | U | s : B | g | B | | oy | YV | S0 | BEA | Thnm | AR
? DEROT| R RARA B B g | (s | wis | movv | o | PO SR g | A S | BB A g | oo | ki | i
154 [ 7a~F LT3
157 |1, 2—vynn=gy 53 1 54
161 [CFC—12 10,601 10,601
162 |70 #3k 1,216 1,216
164 |[HICFC—123 2,362 2,362
168 [ A7 ud 3,643 3,643
169 [Vwmy 6,051 6,051
170 [Froa) Y =1 38 38
171 |[Fae=ady—iL 104 53 156
172 [ A% oratky 978 978
174 (V=20 1,855 1,855
175 [2,4-D 13,800 13,800
176 [HCFC—141b 13,301 13,301
178 |1, 2—y7uprrs v
179 [D-D 415,492 415,492
181 [ Zun~s By 1 890 131,721 0] 132,612
182 |BIV ¥y Txy 936 936
183 [£5L—h 4,366 4,366
184 [V /a~=/L 11,914 11,914
185 |[HICFC—225 18,781 18,781
186 [ HiftATL > 46,868 5| 46,873
187 [VF7 /v 1,982 1,982
188 |N, N— Vv /a~F AT
190 [Py rapgyoy
191 (YT aFA5 2,104 2,104
194 |ARHm
195 | FuFAHA 416 416
196 [AFHF A 976 976
197 [~57 11,624 11,624
198 [P AR=—F 15 15
199 [CIZ AL AT 1260
200 |Y=prhlLx
203 [P ==/ T3
204 |7 x=)L=—F )L
206 [ IARALT 7L 164 164
207 3:#6;/75_‘/'\’”77‘7'”7477V 9 120 27 0 156
209 |7 mEsnuAry 548 236 784
210 |2, 2 V72 LT )T ERTIR
T Tk 23,467 23,467

CAF VT ERTIR 252 42 94 388

AFNT =Y
207 |FAYIT A 500 500
218 [VAFAT I 18 24 42
221 [NUTTINT 903 903
223 [N, N—=VAFIRT IV TIV
994 g,]\\‘Nf‘/)‘ﬁ/‘/Hﬁ UNTI=N—F4F% 19 19,412 95 19,526
225 |NJZubiky 3,700 3,700
227 |"\oa—F 3,690 3,690
229 |F47 7% —FAF L 11,736 11,736
231 |4 /vb—F
232 [N, N— UAF LA LT IR 33,400 33,400
233 |7z hr—k 1,763 1,763
234 |BLE 0 0 0
236 |7 AAFL =L 360 360
237 KK OZDIEDY 1 1
239 | HEAR{LEY 2 2
240 [AFL 6,136 3 1,081 13,641]  1,191]  1,509] 1,808 25,368
242 [ HL VR OEOLED




HFEFR 10 HEHIIRRI - 5t Gefb P BRI Ok R HRE R CERR TR B IERS L) (1. B fia B L i E OO T LIVl F~21. FRLER iR

E L AERBEH i (kg/ 45 AAF VB Ime-TEQ/4F)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
o WA HEXAD ) mx | mewm | mEm W | AL | DAL | W | R | g | e | BB g | B | | AR (S| S | ko | B3
” | R AL | B R phima | (orrmss | wsAl | vy | o V| R g | PRIy | VR AOR ) e | oo | sme | i
243 [FAAF P 995 995
244 [ZV Ay 331,914 331,914
245 |FAIRFE
248 | ZAT V) 9,361 8 9,369
249 [7ELEY kA 732 732
250 [ A% HFFH 1,666 1,666
251 |Fx=huFAr 19,907 414 20,321
252 | 7= F A 245 124 369
253 | a7 = kA
254 |47 a_URA 51 51
255 |FHT7uEY 72 —F )L
256 |7 7 7
257 |7 /) —n 0 0
258 [ ~FHAFLUTEII 470 470
259 [PALT 4T A 15 15
260 |Zuniu= 10,762 10,762
261 |74 I 597 597
262 |[FhF/onTFL 4,597 0 4,597
266 |77 /L) 318 318
267 |[FATANT 1,937 1,937
268 | FF4 28 4,735 4,763
270 [FL7 XV 1 1
272 |SR/KIEME GEIEA RS, ) 2 60 7 68
273 |V~ )L —RF T La—/L 85 85
275 |RF Y VRfilET N Y A 353 322 0 63,022 4,918 68,615
276 |ThITFL L~ I
277 [N =F LTI 758 617 1,375
278 [NU=FL L Fh53 9 9 18
281 [NZao=FL o 14,236 1 14,237
282 | N7 oo 3 13 16
283 |2, 4, 6—N)rno—1, 3, 5—N7Yv
285 [7anE sy 808,398 808,398
286 [Nzt L 532 532
288 [CFC—11 15,352 15,352
1, 3, 5—hJIA(2, 3—=ARF 7 me /L)
291 |—1, 3, 5— N7 —2, 4, 6(1H, 3H,
5H) — A~
292 [NUZFATI
293 [N7 A5 3,693 3,693
294 2,4, 6—N7HET2/)—)V
296 [1, 2, 4—NUAF A~ B 43,661 585 1,260 24,933 819 63 71,321
297 |1, 3, 5—MAF B 19,315 272 53 3,184 1,704 20,248 812 1,934 1,167 15 48,703
298 |NIL VAV T F—h 62 0 62
299 [MAYr
300 [Mrxr 262,056 86 11]  8,701] 116,093 15,645| 1,706] 425,135]  9,547| 14,187| 11,356] 81 358| 864,963
301 [z UTI
302 [F7HL 2,841 665 2,327 14 5,847
304 |4 0
305 [kt 18 835 5 858
306 | T ZUNEBAFHFAF L
0 13 13
=¥ 2 508 510
| 1 1
318 | hifb 0 0
321 | NF VT LMEEY 0 36 36
5 —[N, N—ER(2—TtFLAFr o
a9 [T/ T/ =2 —(2—TaE—4, 6
=haT 2=V TY) =4 = ARV TR
=UF
323 [T AR 435 435




HFEFR 10 HEHIIRRI - 5t Gefb P BRI Ok R HRE R CERR TR B IERS L) (1. B fia B L i E OO T LIVl F~21. FRLER iR

XA E AER R B (ke/ 47 A4 %2 Bildmg-TEQ/4F)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
o WA HEXAD ) mx | mewm | mEm W | AL | DAL | W | R | g | e | BB g | B | | AR (S| S | ko | B3
” | R AL | B R phima | (orrmss | wsAl | vy | o V| R g | PRIy | VR AOR ) e | oo | sme | i

325 [AFT 8 6,897 6,897
328 [PF4 4,546 4,546
329 |FRYA—/3A—]
331 [HAHFRA 498 498
332 |t K O Z DI A Y
333 [ERTVv 85 423 508
334 |4—bRuX L ZEEFEMBAT IV
335 IN— (4—bRe¥y7==/L) 7TEr7IF
336 |eho /v 4 2 6
341 B0
342 RV 1 1
343 [hTFa—/L
346 |2— T x=)\ Tz /)—) 174 174
348 [T7x=L V73
349 |[7=/— 128 0 128
350 [~V ARY 719 159 878
351 [1, 3—7 4y 549] 1,041] 18,541 281 1,487 362 108 22,370
354 | ZHNEEY — IV~ —T FIb 16 19 620 655
365 | ZHNBE A (2—TF L~FL L) 129 16 11 155
356 |ZHNVER I NIV —T F =PV L 19 19
357 |77 ur=vr 240 240
358 |77 7= /UK
360 [~/L 3,485 3,485
361 [ ke 77T 973 973
362 |7 7= Fn
363 [AxHYoTV 296 296
364 |7xrERF LAk 83 83
366 | X — ) =T F L =bRe~YLAfF R
368 |4—F—Ix)—TFF )Tz /—)L
369 |7 ULE vk 180 180
370 [EVZ N 80 80
371 |77 7= BT 60 60
374 | 5o fbKFE K OEDREMEE 2,444 2,444
376 |74 7u—/L 1,185 1,185
377 |75
378 |FnE ks 5,110 5,110
379 [2—7mEy —1—F—
381 [T mEY/mpA 577 135 712
382 [/ o —1301
383 [T v 4,895 4,895
384 [1—7oESm 5,823 2 5,825
385 |2— 7 mES
386 | BALATF L
389 ?f\>+fff7/u%ux>?/u7y:a:r7A:7uu 29 1,289 147 1,464
390 | ~FHPAFLL VTV
391 [ ~FHPAFLL =AY T F—h 14 14
392 [ v —~F 56,082 1,975 7,268 81,546 5,680 48] 152,599
393 [~FFTh—
394 |~V LR OZEOIEY
395 [~LA XY TR K VA 12 12
398 [Mafk~=r v
399 [ XU AT LT ER 325 6,818 176 780 241 27 8,368
400 [~ 2,661 8 13,009 850 100,065 2,884] 13,258 3,539] 108 1| 136,384
402 [A7=F &b 4,012 4,012
405 [IZH5FLEY 207 1,929 6 2,142

R (¥ zFL o) =7 ¥ LT—T )L
407 | (T AN IEOBRFEIA 205155 TOE 22,505 38,939 30 553,519 7,696| 622,688

DR OZEDREMIZIRD, )

o




HFEFR 10 HEHIIRRI - 5t Gefb P BRI Ok R HRE R CERR TR B IERS L) (1. B fia B L i E OO T LIVl F~21. FRLER iR

AT E AR PR B (kg/ 45 X AA XV U HHIImg-TEQ/4F)
1 2 3 1 5 6 7 8 9 10 11 12 13 14 5] 16 | 17 18 19 20 21
o WA HEXAD ) mx | mewm | mEm g | v | A | B | R | R | g | e | BT | g | B || o | AV | SR | e | TAmm | B
” Zonsr | T ' = B s | ekt | ERA | vy | of V| R g | PRIy | VR AOR ) e | oo | sme | i
q08 [FVAFTE=F L) =F7FNT 2= 211 9,437 7 513 10| 10,179
T—F )b

409 %@iﬁ;ﬁi;ﬁ;’ vEm=TV 300 18,749 88,345 7,949| 115,343
410 i?ﬁ**’l‘f”/):/:"”l:‘”IH 1,496| 30,872 49 2,321 87| 34,825
A1 [ ALATILFER 2415 338 1,896] 1,82 61,382 589 21,460 901 324 816] 91,404
412 |~ T R OZEDEY 2 1 3
413 | K7 2 VIR
414 | K~ LA
415 | AX VLR 82 6 89
416 |AFIVVEE2 — = F ~F L
417 [ AFJULERS, 3— A% SaE L
418 [AH VL ER2— (PAFAT ) =TI 0 0
419 | A2 TV IV~ —TF )L
420 [ AU VERAT L 97 97
122 | 72007y 2 72
120 AT = AT I T F—F 21,460 21,460
127 [ 2,990 187 3,177
128 [ 7= )T IINT 674] 381 1,055
129 | NOALT O AT 266 266
130 A RXYHINT 158 158
131 7% ARIE Y 1,727 1,727
132 [ 752 60 60
133 1A 500 500
134 [FEFIL 262 262
1435 [EV "o I AT 57 57
136 [T 77— AFAAFL
138 [AFALFTHLY 52 607 0 659
139 [3—AFALEVTL
142 [A7a= 135 135
143 |2 3,623 3,623
14 [N7a% s Araty 170 170
145 |JLIX S BATFIL 1,401 1,401
148 ;z;t_/]\t/\@’ 1—Tx=Ly) =V 61 1 63
449 | TV AT 4T 7
150 [CVTF AT 193 193
152 [2— NI TN T FTI— 1 19 23
453 | BT TR OZEDILED 10 154 164
1455 [E R 6 17 23
156 [0/ALT AI=T A 385 385
157 [DURRR 1,110 1,110
458 |DABRNA (2—=F L~F L)
459 |WABERIA (2—Z7ou=F L) 0 0
160 [DAREN NV 80 80
461 |WABERN 7 =)L

= 3F 851,728] 2,067,021] 5,098 13,301] 388,929 1,036,054]  134,048]  53,436] 19,069] 1,116,685] 24,337] 77.438] _30,564] 977 2,121 204,774] 995 64,041] 6,089,621




